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Part A: Grammar and Vocabulary
Direction: Choose the word or phrase, (1), (2), (3), or (4), that best completes each sentence. Then
mark the answer on your answer sheet.

76- Some parts of the world get an abundance of rain, ............... others get little or none.
1) as 2) while 3) whether 4) because

77- Ali decided to make the trip ............... suddenly that there was not ............... time to plan it properly.
1) so- very 2) such- very 3) so- enough 4) such- enough

78- Mrs. Hamidi has written a book about the plants in the forests of Iran. The book actually ............... last
year has attracted a lot of attention.
1) published 2) was published 3) has published 4) that published

79- Shirin passed all the final exams with the highest grade. She ............... very hard during the academic
year.
1) must study 2) should study 3) should have studied 4) must have studied

80-To be quite ............... with you, | don’t think your son will be successful in this field of study.
1) honest 2) private 3) anxious 4) reasonable

81- John liked to work with the radio playing and said it did not ............... him at all.
1) contact 2) distract 3) separate 4) prevent

82- Even in this age of high technology, activities like fishing and hunting have remained ...............
popular.
1) uselessly 2) previously 3) physically 4) constantly

& -
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83- | am very happy working for Mr. Jalali’s company because | get paid well. Mr. Jalali is a very good

1) winner 2) partner 3) employer 4) apprentice
84- Fortunately, people have become much more ............... the need to exercise more regularly.
1) superior to 2) ashamed of 3) conscious of 4) nervous about
85- The traffic was too heavy as it was raining hard, so we reached the ............... two hours late.
1) destination 2) expectation 3) occasion 4) exploration
86- All the lights were off and the car was not in the driveway, so it was ............... that nobody was home.
1) computed 2) assumed 3) evaluated 4) supported
87- It was really hot, so the children ............... their clothes and jumped into the river in order to swim.
1) looked for 2) picked up 3) turned on 4) took off

Part B: Cloze Test
Direction: Read the following passage and decide which choice, (1), (2), (3), or (4), best fits each space.
Then mark the correct choice on your answer sheet.

The ancient Chinese are responsible for the invention of many objects and items that we ...(88)...
use today. The umbrella is one of these items. ...(89)... umberllas appeared about 1,600 years ago.
They were ...(90)... with oiled paper, rice paper, glue, and bamboo. The outsides of the umbrellas were
often decorated with colorful paintings of flowers, birds, and ...(91)... designs. However, these paper
umbrellas were not used to protect a person from rain. Women used them to protect their skin
..(92)... the sun. Umbrellas became very fashionable for both men and women and were viewed as a
symbol of high rank in ancient Chinese society.

88- 1) strongly 2) mentally 3) commonly 4) immediately
89- 1) The first of 2) The first 3) First of 4) First

90- 1) lifted 2) located 3) involved 4) constructed

91- 1) other 2) another 3) others 4) one another
92-1) from 2) during 3) across 4) through

Part C: Reading Comprehension
Direction: read the following two passages and answer the questions by choosing the best choice, (1),
(2), (3), or (4). Then mark the correct choice on your answer sheet.

m Passage |:

When aircraft and balloons first took to the skies, the people in them were amazed at their new
view of the world. From hunderds of feet up they could see the layout of a large city, the shape of a
coastline, or the patchwork of fields on a farm. Today, we have an even wider view. Satellites circle
the Earth, not hundreds of feet, but hundreds of miles above the ground. Form this great height,
satellites provide a unique image of our planet. Some have cameras that take photographs of land
and sea, giving information about the changing environment on Earth. Others plot weather patterns
or probe into space and send back data about planets and stars. All of these are artificial satellites
that have been launched into space from Earth. However, the word satellite actually means any
object that moves around a planet while being held in orbit by the planet’s gravity.

There are countless natural satellites in the universe: the Earth has one- the Moon. Meanwhile,
there are many types of artificial satellites. Weather satellites observe rain, storms, and clouds, and
measure land and sea temperatures. Spy satellites observe military targets from low altitudes and
send back detailed pictures to ground stations. Earth observation satellites monitor vegetation, air
and water pollution, population changes, and geological factors such as mineral deposits.

93- What is the passage mainly about?
1) How satellites help man 2) Natural versus artificial satellites
3) What satellites look like 4) How balloons were replaced by satellites




9 Jlow g9 j1 215 5 poul o 90 1

94- Which of the following words has been defined in the passage?

1) Orbit 2) Gravity 3) Altiude 4) Satellite
95- Which of the following is understood from the passage?

1) In today’s world, there is no need for balloons at all.

2) Artificial satellites are more varied in application than natural satellites.

3) The most important data a satellite can send is information about other planets.

4) There are a lot more artificial satellites in the universe compared to natural satellites.
96- Which of the following artificial satellites is NOT mentioned in the passage?

1) Earth observation 2) Communication 3) Weather 4) Spy

m Passage |l:

Andres Celsius (1701- 1774) was a Swedish physicist and astronomer who lived and worked at
Uppsala and became professor of astronomy at the university there in 1730. He organized the building
of the Uppsala observatory, which was completed in 1740, and worked there for the last four years of
his life. He wrote two books on astronomy, one concerned with a new method for working out the
distance from the Earth to the Sun and the other concerning observations to determine the shape of
the Earth.
Celsius is, today, best known as the inventor of the temperature scale that bears his name. This
scale, which is sometimes called the centigrade scale, is used throughout the world, especially for
scientific measurements. In 1714, Daniel Fahrenheit (1686- 1736), a German physicist from Danzig
(modern Gdansk, in Poland), who worked mainly in the Netherlands, had introduced his temperature
scale, which fixed the freezing point of water at 32 ° F and its boiling point at 212°F.
In 1742, Celsius adopted a different scale. As the basis, he chose the temperature range over which
water remained liquid, and divided it into 100 equal intervals, or degrees, instead of the 180 of the
Fahrenheit scale. Originally, Celsius set the melting point of ice at 100 and the boiling point of water
at 0, but the zero and 100 were later reversed. The scale was initially called the centigrade scale from
the Latin centum gradus, meaning “one hundred steps”. But at an international conference in 1948,
scientists renamed the scale its inventor and it is now officially referred to as the Celsius temperature
scale.
Scientists have found the Celsius scale more convenient to use than the Fahrenheit scale and it has
been more expanded to include temperatures lower than 0 and higher than 100. It is in common use
throughout Europe, although in United States and Canada the Fahrenheit scale is still preferred for
ordinary, non-scientific purposes.
97- What did Celsius do from 1771 to 1774?

1) He taught at Uppsala University.

2) He worked at the Uppsala observatory.

3) He wrote two of his most famous books.

4) He calculated the distance from the Earth to the sun.
98- Which of the following can be understood from the passage?

1) Celsius changed his scale when he heard of the Fahrenheit scale.

2) Daniel Fahrenheit spent most of his time doing research in Germany.

3) The Fahrenheit scale had been invented sooner than the Celsius scale.

4) Celsius invented his scale while making observations to determine the shape of the Earth.
99- What does the word “initially” in line 17 mean.

1) At last 2) At best 3) At least 4) At first
100- What does the writer implicitly say in the last paragraph?

1) People generally respect Celsius more than Fahrenheit.

2) The Celsius scale is used for scientific purposes in North America.

3) Scientists have developed the Celsius scale to make it more practical.

4) The Europeans use the Celsius scale less often than the Fahrenheit scale.




